OMRON

FE39-E16

WErYE I770—1=vh

| HUREHEE

DRV AEREBBV EF W RELELCETEITHINESTEVET,
SERICELTIE RORBEHTFIEEL,

+ COBREHBAEE LCBTRIMTEY HDITTEEND IR ELCTRALEL,
+ COBURHAZRIIVN O THBRTEALIANREL TTIE L,

T

© OMRON Corporation 2020 All Rights Reserved.

REEDER

UFCTIBERREZRRT 2O THERTLTTDTHTFoCLIELY,

(1) ERRZESLUNORMEZERLENTREW, BmiEDRRE G SR8
HHYEY,

(2) RLOFDMT MLV IS TR DS ML BEN TR TIEEL,
DS MLIDRENERRDBEDRRICEVE S, TleohEWER
B HEEEICLBBEDRALEYET,
M3:0.4~0.5N*m
M5:1.0~15Nm

(3) HEREENDENTEALGEVTLEL, T7 RN PHRRREDRRE &
DEY E EADNNEVEBNDEEH R+ ELBERENDIET,

ERLDIE

(1) FROXRBHFACIKERLEWVTLZEL,
‘EHBEND B BHH
[BRUEDHADS BI5H
AKEICER IRE P EEMED A5
EREBASARTESYRE

(2) UL ERREEDREOID D BERE CTERINIHEE ABOERTF
HHETHENDGVETOT EAREICELLERFECEREEL,

(3)FBDRLCICTERY T ZRELTIZEL,

() BOESRFEERL LTV ABRUNEERT 2L I 7 RNOERER
EIRBAIREENBIE T,

(5)EMFLF1—TIB R ALY E—XV MNTE. RE). BEZDERFHHH
S5ENEIINTLTLEE WV, B FORIELF21—7 DD AN R RITD
RREEGAAIEEEDBYET,

(6)EHODBEZEF VAL T AOERNICT 7 ZBE L TEEW. BEEY
DRELESEIG EBHOBRLTIEEL,

(7)Y EARCOREICTERLLEW. I770—1 2y NeTFTHT5H8E
EHBUET,

(8) AL TV 2ENZE T HEEMMERIRANI > TREEL LT,

WEM e
ERRERE —25~+55C
RIEEERE —40~+70°C
#rED (MHA) 10~55Hz &HRIE1.5mm XY, X&HE 2h
& (WA) 500m/s? X,Y,X& /518 3E
fEFREHERH 0~0.6MPa
%)) ZDC2 NiXw#+
b:):: R E3AS-F.E3AS-L. E3AS-HL,E3Z,E3ZR.E3ZM
BfEm
REHD =} 1B
FTF (SMCxHE KQ2H06-M5N) — :
(Z7FAOFEMS, F2—T1E06) REIR NI+
iR M5X8 U\XES. FEST) SUS 1
EERC M3X16 (/\RES, FESA) SuUs 2

WY HF 5 E
1 BT R UV TREN, 12y b EFEB5TH T4
TEET,
BT

(SMC#1%¢ KQ2H06-M5N)

imnb<M5><8>*>@

2. FITEINF CFa—TERALTEE VI NI DEEES
SOEICHEIMIFITEE T,

‘ Fa—THEA

o Bl
I (M3%16)

o BEERLENLSEVESICT 2o, £ PBRIMFRLOES ICHIRAGYET,
*‘(;\] ) FZE3AS-HL (> #1815.5mm)  FZE39-L211 (XA 1H & BIE3mm) DIBA.
oese Y FEUMIFRLIERE 13mmIFESHEREEL,

L BRI EEICE Db T FRMTIT R LERA TR EL,

CHEGERIE

LRI £ aE S ORARE L CRAEESNTOE T RVELT RITBIF 2R TORAEER

LTHEST BBHRD SHBREINSOFERICEATNZBICIE HrtF SR LRIV e LEE

Ao e R L RICEBIP BB THOTHHHOE BRLEREROBEPRRIOEENBHBEIHFELY,

(@ BLREUAYBEEENBER B RF BRI MR M- FERE SERE. ARG BERE
BRI R2RE ZOMER FRICBBRIRUDZHE)

(b) BLWMEREDDERRR (B AR KE - BREDHES AT L. 4R EFERL S AT L REV AT LIEHME
F-MEZRESAEREL)

(O BLOEAHEERIETORE Bl BINCRE T HRME. (LB RE WD R BRI EE #5505 REh-
BEERIFHREEL)

LSRR VA PRECORE

SHEIN VB ANZ O SEBOBRIEEHE (CHBEEC.UTEL) B TIRHYESAB

CHEHTAMARICERALENTTEL, BEEE#AERIC OV T U ERBEEI TR L,

* FRIRESEROEHO—RTT. SHONANBEHZOY T—2Y— MERIRDAZOY X 227 )W
ORI REFROANBE K SGHATTEREL,

E F1-TIENBLEEA,

ALONARKER (520710~ A—vav 92207

OHAICEHTIHMVEDESE
BERERE

ARV EFN=P
7Y-

IE::0120-919-066

HHBE-PHS IPRELETRIFIBV LT EEADT, TROBHEESABHILE,

255 0565-982-501 5 srmvnuzs)

WS %650 - 8:00~21:00 WE%¥H 3658
OFAXPWebN—T THEBVEDEWELETET,

FAX 055-982-5051 / www.fa.omron.co.jp
OZDMDBHNEDY

HNER- AR - 5 TV R E IS B OB IS |5 E i d BHIBLA LDV IRFRICTHEREE L,
LA RIS P4 LD RIS WebX—D TTRAL TV ET,

A®




OMRON

Model E39-E16

Air Blow Unit for Photoelectric Sensor

| INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet primarily describes
precautions

Before operating the product, read the sheet thoroughly to acquire sufficient
knowledge of the product. For your convenience, keep the sheet at your

disposal.
*5630546-18%

© OMRON Corporation 2020 All Rights Reserved.

Precautions for Safe Use

Please observe the following precautions for safe use of the products.

(1) Do not use fluid other than compressed air. This may cause damage
to the parts.

(2)Tighten the screws within the following tightening torque range. If
the tightening torque is too large, the parts may be damaged. If it is
too small, the parts may come off due to vibration or impact.
M3:0.4t0 0.5N:-m
M5:1.0to 1.5N-m

(3) Do not use the product under pressure outside the specified range.
This may cause air leakage or damage to parts. Also, if the pressure
is low, dirt may not be removed sufficiently.

Precautions for Correct Use

(1) Do not use the product under the following conditions.
«In the place exposed to the direct sunlight.
«In the place where corrosive gas exists.
«In the place where vibration or shock is directly transmitted to the
product.
«In an ambient atmosphere or environment that exceeds the
ratings.

(2)If the product is used in an environment where it is splashed with
cutting oil, chemicals, etc., the supplied pipe joint may break down.
Use the pipe joint suitable for the usage environment.

(3) Use the supplied screws for installation.

(4) Use the supplied pipe fitting. Using other parts may cause air
leakage.

(5) Do not apply any loads such as tension, torsion, moment load,
vibration, or impact to the pipe fitting or tube.

(6)To prevent the nozzle from clogging, discharge air periodically. If
clogging occurs, clean the nozzle.

(7) Note the length of the sensor mounting screw. It may interfere with
the air blow unit.

(8) Dispose in accordance with the applicable waste disposal
regulations of the country of use.

MRatings and Specifications

HIinstallation

1. Attach to the sensor and insert the tube.
The unit can be mounted on either side of the sensor.

Pipe joint
(KQ2H06-M5N manufactured by SMC)

Sealing screw é
(M5 x 8)
2. Attach to the sensor and insert the tube.
The unit can be mounted on either side of the sensor.

Insert the tube

Fixing screw
(M3X16)

Air discharge

Ambient temperature (Operating) -25t0 55°C

Ambient temperature (Storage) -40to 70°C

Vibration resistance 10to 55 Hz, 1.5-mm double amplitude
for 2 hours each in X, Y and Z directions

Shock resistance 500 m/s*3 times each in X, Y and Z directions
Operating pressure range 0to 0.6 MPa
Material ZDC2 Ni plating
Applicable sensor E3AS-F, E3AS-L, E3AS-HL, E3Z, E3ZR, E3ZM
M Accessories
Contents Material | Qty
Pipe joint (KQ2H06-M5N manufactured by SMC) Brass, 1
(Air inlet diameter M5, tube diameter 6 dia.) Finished: Ni plating
Sealing screw M5 x 8 (with spring and plain washers) SUS 1
Fixing screw M3 x 16 (with spring and plain washers) IS 2

Note. The tube is not included.

The length of the sensor mounting screw is limited so that it does not hit the

fixing screws.

“(a) Example) For E3AS-HL (sensor width 15.5 mm) and E39-L211 (mounting bracket

cese width 3 mm), use a sensor mounting screw with a length of 13 mm or less.
Select a sensor mounting screw according to the type of the sensor and
mounting bracket.

Suitability for Use

OMRON Corporation shall not be responsible for conformity with any standards, codes or
regulations which apply to the combination of the Product in the Buyer’s application or use of
the Product. At Buyer’s request, Omron will provide applicable third party certification
documents identifying ratings and limitations of use which apply to the Product. This
information by itself is not sufficient for a complete determination of the suitability of the
Product in combination with the end product, machine, system, or other application or use.
Buyer shall be solely responsible for determining appropriateness of the particular Product
with respect to Buyer’s application, product or system. Buyer shall take application
responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS RISK TO LIFE
OR PROPERTY WITHOUT ENSURING THAT THE SYSTEM AS A WHOLE HAS BEEN
DESIGNED TO ADDRESS THE RISKS, AND THAT THE OMRON PRODUCT(S) IS
PROPERLY RATED AND INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

OMRON Corporation  Industrial Automation Company
Kyoto, JAPAN Contact: www.ia.omron.com

Regional Headquarters
Il OMRON EUROPE B.V.
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388
Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787
Il OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road # 05-05/08 (Lobby 2),
Alexandra Technopark,
Singapore 119967
Tel: (65) 6835-3011/Fax: (65) 6835-2711
I OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-5037-2222/Fax: (86) 21-5037-2200

b®




